
Reasoning

Directions (1-5): Study the following information carefully and answer the given questions.
A, B, C, D, E, F, G and H are sitting around a square table in Maharaja Hotel in Delhi for breakfast in such a way that four
of them sit at four corners of the square table while other four sit in the middle of each of the four sides of table. The one 
who sits at the four corners faces towards the center of the table while those who sit in the middle of the sides face 
outside.

Each of them ordered a different food items, viz Coffee, Tea, Halwa, Kulfi, Barfi, Samosa, Jalebi and Rasmalai but not 
necessarily in the same order. C sits third to the left of the one who orders Rasmalai . The one who orders Rasmalai 
faces outside. Only two persons sit between C and H. The one who orders Coffee sits on the immediate right of H. The 
one who orders Barfi sits second to the right of G. G is neither an immediate neighbour of H nor of C. G does not order 
Rasmalai . Only one person sits between A and the one who orders Barfi . D sits on the immediate left of the one who 
orders Samosa. G does not order Samosa. E orders Jalebi. E is not an immediate neighbour of A. The one who orders 
Tea is an immediate neighbour of E. The one who orders Kulfi is an immediate neighbour of F.

Q1. What is the position of the one who orders Samosa with respect to G?
(a) Second to the left
(b) Third to the right
(c) Fourth to the left
(d) Second to the right
(e) Third to the left

Q2. Who among the following represent the immediate neighbours of the one who orders Barfi ?
(a) B, F
(b) C, E
(c) B, E
(d) D, F
(e) F, H

Q3. Who among the following sits exactly between H and B when counted clockwise from H?
(a) C
(b) The one who orders Tea.
(c) The one who orders Halwa.
(d) G
(e) A

Q4. Which of the following is true regarding B?
(a) B is one of the immediate neighbours of D.
(b) The one who orders Rasmalai is an immediate neighbour of B.
(c) B sits second to the left of H.
(d) B orders Jalebi .
(e) B is an immediate neighbour of the one who orders Coffee .

Q5. Who amongst the following sits diagonally opposite the one who orders Coffee ?
(a) The one who orders Tea.
(b) D
(c) A
(d) The one who orders Halwa 
(e) The one who orders Kulfi 

Directions (6-10): Study the information and answer the following questions:
In a certain code language 

“raise the issue of” is coded as “EI6   EG4   ER6   FL3”

“boats have been released” is coded as “SY6   ES5   NY5  DI9”

“and has taken up” is coded as “DZ4   SS4   NG6   PF3 ”

Q6.What is the code for ‘fisherman’ in the given code language?
(a) NU10
(b) MU10
(c) NU0
(d) NU11
(e)None of these

Q7.What is the code for ‘minister’ in the given code language?
(a) RN9
(b) SN9
(c) RM9
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(d) RN8
(e)None of these

Q8.What is the code for ‘traditional’ in the given code language?
(a) LH12
(b) LG1
(c) KG12
(d) LG12
(e)None of these

Q9.What is the code for ‘affairs’ in the given code language?
(a) SX8
(b) TZ8
(c) SZ9
(d) SZ8
(e)None of these

Q10.What is the code for ‘bottom’ in the given code language?
(a) NY7
(b) MX7
(c) MZ7
(d) MY7
(e)None of these

Directions (11-15): Study the following information carefully and answer the question given below.
Following are the conditions for selecting Chief Manager-Marketing in an organization
The candidate must
(i) be at least 35 year old as on 01.02.2010.
(ii) have secured at least 55% marks in graduation.
(iii) have secured at least 60% marks in post graduate degree/diploma in Marketing Management.
(iv) have post qualification work experience of at least ten years in the marketing division of an organization.
(v) have secured atleast 50% marks in the selection process.
In the case of a candidate who satisfies all the above conditions except
1. at (iv) above but has post qualification work experience of at least six years as Manager-Marketing, the case is to be 
referred to the Head-Marketing Division.
2. at (ii) above but has secured at least 65% marks in post graduate degree/diploma in Marketing Management, the case
is to be referred to the GM-Marketing.
In each question below, are given the details of one candidate. You have to take one of the following courses of action 
based on the information provided and the conditions and sub-conditions given above and mark the number of that 
course of action as your answer. You are not to assume anything other than the information provided in each question. 
All these cases are given to you as on 01.02.2010.
Give answer
(a) If the candidate is to be selected
(b) If the case is to be referred to the Head-Marketing Division
(c) If the case is to be referred to the GM-Marketing
(d) If the candidate is not be selected
(e) If the data provided is inadequate to take a decision

Q11. Shubham has secured 65% marks in PG degree in Marketing-Management and 58% marks in graduation. 
He has been working in the marketing division of an organization for the past eleven years after completing his 
post graduate degree. He has secured 55% marks in the selection process. He was born on 8th July, 1970.

Q12. Shikha was born on 4th May, 1974. She has been working in the marketing division of an organization for 
the past twelve years after completing her post graduate diploma in Management with 70% marks. She has 
obtained 60% marks in graduation and 50 percent marks in the selection process.

Q13. Veer Abhimanyu was born on 15th June, 1974. He has secured 55% marks in the selection process and 
50% marks in graduation. He has been working in the marketing division of an organization for the past twelve 
years after completing post graduate degree in Marketing Management with 75% marks.

Q14. Malvika was born on 14th April, 1973. She has been working in the marketing division of an organization for
the past fourteen years after completing her post graduate diploma in Marketing-Management with 70% marks. 
She has secured 50% marks in the selection process and 52% marks in graduation. 

Q15. Namita was born on 5th July, 1976. She has secured 55% marks in graduation and 58% marks in the 
selection process. She has been working in the marketing division of an organization for the past ten years after
completing post graduate degree in Marketing-Management with 67% marks. 
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Directions (1-5): Study the information and answer the following questions:
In a certain code language 
"who claimed form government” is coded as “U%7  V%14  Y*23   E*12 ”

“the support legislator massive” is coded as “ O*22   P%9   I*7   H*22”

“won the test with” is coded as “ E%19   H%7   H*22   E*13”

Q1.What is the code for ‘formation’ in the given code language?
(a) V*13
(b) V%13
(c) V*14
(d) U*13
(e)None of these

Q2.What is the code for ‘suffered’ in the given code language?
(a) I*23
(b) J%23
(c) I%22
(d) I%23
(e)None of these

Q3.What is the code for ‘tolerate’ in the given code language?
(a) K%22
(b) H*22
(c) H%22
(d) I%22
(e)None of these

Q4.What is the code for ‘corruption’ in the given code language?
(a) Y*13
(b) Y%15
(c) X%13
(d) Y%13
(e)None of these

Q5.What is the code for ‘injustice’ in the given code language?
(a) T*22
(b) S%22
(c) S*22
(d) S*25
(e)None of these

Directions (6-10): Study the information and answer the following questions:
In a certain code language 

“earlier in the last” is coded as “12#U   20@F  9*O   5^S”

“money should not be” is coded as “13$Z   2*F   14@U   19%E”

“top decision making body” is coded as “2#Z   13%H   4&O   20@Q”

Q6.What is the code for ‘trigger’ in the given code language?
(a) 20^S
(b) 20%S
(c) 20@S
(d) 20*S
(e)None of these

Q7.What is the code for ‘brief’ in the given code language?
(a) 2$G
(b) 2*G
(c) 3$G
(d) 2$H
(e)None of these

Q8.What is the code for ‘making’ in the given code language?
(a) 14%H
(b) 13@H
(c) 13*H
(d) 13%H
(e)None of these
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Q9.What is the code for ‘suffered’ in the given code language?
(a) 20&E
(b) 19%E
(c) 19*E
(d) 19&E
(e)None of these

Q10.What is the code for ‘body’ in the given code language?
(a) 2^Z
(b) 2#X
(c) 4#Z
(d) 2#Z
(e)None of these

Directions (11-15): Study the information and answer the following questions:
In a certain code language

‘money is not require’ is written as ‘sx nc ho qz’, 

‘way and supply money’ is written as ‘mo ta pa sx’, 

‘require for more part’ is written as ‘zi nc ne ki’ and 

‘way for supply money’ is written as ‘zi mo sx ta’.

Q11. What is the code for ‘require’ in the given code language?
(a) qz
(b) mo
(c) pa
(d) ta
(e) nc

Q12. What is the code for ‘supply’ in the given code language?
(a) Only ta
(b) Only mo
(c) Either pa or mo
(d) Only pa
(e) Either mo or ta

Q13. What may be the possible code for ‘way only more’ in the given code language?
(a) xi ne mo
(b) mo zi ne
(c) ki ne mo
(d) mo zi ki
(e) xi sx ta

Q14. What may be the possible code for ‘work and require’ in the given code language?
(a) pa qz nc
(b) pa nc tu
(c) mo nc pa
(d) tu nc qz
(e) pa nc ne

Q15. What is the code for ‘for’ in the given code language?
(a) mo
(b) pa
(c) ne
(d) zi
(e) ho
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